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 ANOT 2007 Final ( Round 3 of 4 )

Oz One vs Stark

Oz One Stark Stark Oz One

N Del’Monte E Dilks N Ewart E Hans

S Burgess W Stark S Howe W Nunn

Board Contract by M D N-S E-W Contract by M D N-S E-W IMPs

1 6♥ N 6 980 6♥ N 6 980 - -

2 4♠ E 1 50 4♠ W 4 420 10

3 4♥ N 4 420 4♥ N 1 50 10

4 5♥X S 6 1050 4♥ N 5 650 9

5 3NTX N 1 200 4♥ S 1 100 3

6 5♣X N 4 800 4♠ W 1 100 14

7 3NT W 3 600 3NT W 4 630 1

8 4♠ N 1 50 4♠ N 1 50 - -

9 3NT S 1 50 5♦X N 2 300 6

10 3NT N 7 720 3NT N 4 630 3

11 4♦ N 1 50 5♦ N 1 50 - -

12 4♠ W 5 450 4♠ W 5 450 - -

13 3♣ S 5 150 5♣ N 1 100 6

14 4♠ N 2 100 4♠ N 2 100 - -

15 6♥ N 1 100 4♥ N 5 650 13

16 2♦ W 2 90 3♦ W 1 100 5

45 35

IMPs Oz One Stark

This segment 45 35

Penalty 0 0

Carryover 115 27

Total 160 62

edited in PDF format by  PS-bridge

http://www5b.biglobe.ne.jp/%7epsbridge/
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N
EW

S

1 ♠ A8

K 9 85 4 3

A

♣ J10 9 3

♠10 4

10 7

K Q10 8 7 4 2

♣ A8

♠KQ J 9 7

AQ J 6

J 9 3

♣K

♠ 65 32

2

65

♣ Q7 65 42

 980 
11
12
12
5
8

1
0
1
7
5

N
EW

S

2 ♠4 3

KQ8 7 2

K10 7 5

♣5 2

♠A8 6 5

A 4

A 2

♣AQ J 4 3

♠KQ

10 5 3

Q9 8 6 3

♣K10 8

♠ J10 9 7 2

J 9 6

J 4

♣9 7 6

 140 
6
3
9
9
3

7
9
4
4
9

= 6♥ by N, making 6, NS 980

= 6♥ by N, making 6, NS 980

-

-

Oz One

Stark

115

27

(N-S)Oz One (E-W)Stark
(W)Stark (N)Del’Monte (E)Dilks (S)Burgess

W N E S

1♥ 2♦ 4♣
P 4♦ P 4N

P 5♣ P 6♥
P P P

♦K♦3♦5♦A
♥5♥7♥Q♥2

= 6♥ by N, making 6, NS 980

(N-S)Oz One (E-W)Stark
(W)Nunn (N)Ewart (E)Hans (S)Howe

W N E S

1♥ 2♦ 2N

P 3♠ P 3N

P 4♦ P 6♥
P P P

♦K♦3♦5♦A
♥3♥7♥A♥2
♥Q♦6♥4♥T
♠7♠2♠A♠4
♠8♠T♠K♠3

= 6♥ by N, making 6, NS 980

= 4♠ by E, down 1,EW -50

= 4♠ by W, making 4,EW 420

10

-

Oz One

Stark

125

27

(N-S)Oz One (E-W)Stark
(W)Stark (N)Del’Monte (E)Dilks (S)Burgess

W N E S

1♣ P

1♦ 1♥ 1♠ 2♥
3♠ P 4♠ P

P P

♥3♥9♥Q♥A
♠A♠Q♠2♠3
♠5♠K♠7♠4
♥T♥J♥K♥4
♦7♦A♦3♦4
♠6♦6♠J♥2
♣6♣2♣Q♣K

= 4♠ by E, down 1,EW -50

(N-S)Oz One (E-W)Stark
(W)Nunn (N)Ewart (E)Hans (S)Howe

W N E S

1♣ P

1♠ P 4♠ P

P P

♥K♥A♥5♥6
♠A♠Q♠2♠3
♠5♠K♠T♠4
♥3♥9♥Q♥4
♦5♦A♦3♦4
♠6♦8♠J♥2
♥J♥7♦2♥T
♣6♣5♣Q♣K

= 4♠ by W, making 4,EW 420
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N
EW

S

3 ♠6

K 7 6 5 2

AK 9

♣KQ9 5

♠Q9 8 5 3

J 9 4

Q J 6

♣A 4

♠AK J

Q8 3

8 7 5 3

♣10 7 2

♠10 7 4 2

A10

10 4 2

♣ J 8 6 3

 430 
10
7

10
10
10

2
6
2
3
3

N
EW

S

4 ♠10 9

AK J 876 42

Q4

♣ K

♠ A75

10

8 7 3

♣ J 97 4 32

♠K 6 4

Q9 3

K 9 6 5

♣Q6 5

♠Q J 8 32

5

A J10 2

♣A10 8

-500 
9
4

10
6
4

4
8
3
7
9

= 4♥ by N, making 4, NS 420

= 4♥ by N, down 1, NS -50

10

-

Oz One

Stark

135

27

(N-S)Oz One (E-W)Stark
(W)Stark (N)Del’Monte (E)Dilks (S)Burgess

W N E S

P

P 1♥ P 2♣
P 4♥ P P

P

♥4♥3♥A♥2
♥T♥K♥J♥8
♥6♥9♥Q♦4
♣2♣3♣K♣A
♠5♠A♠2♠6
♠K♠4♦9♠3

= 4♥ by N, making 4, NS 420

(N-S)Oz One (E-W)Stark
(W)Nunn (N)Ewart (E)Hans (S)Howe

W N E S

P

P 1♥ P 1N

P 2♣ P 2♥
P 4♥ P P

P

♦Q♦3♦2♦A
♥2♥4♥Q♥A
♦4♦K♦6♦5
♥K♥9♥3♥T
♠6♠3♠A♠2
♠K♠4♦9♠5
♣2♣3♣9♣A
♥J♥8♠7♥5

= 4♥ by N, down 1, NS -50

= 5♥X by S, making 6, NS 1050

= 4♥ by N, making 5, NS 650

9

-

Oz One

Stark

144

27

(N-S)Oz One (E-W)Stark
(W)Stark (N)Del’Monte (E)Dilks (S)Burgess

W N E S

1♠ 4♥ P P

X P 4♠ 5♥
P P X P

P P

♠A♠4♠8♠T
♦8♦5♦2♦Q
♥8♥T♥Q♥5
♣5♣8♣K♣2
♥7♣3♥9♠2

= 5♥X by S, making 6, NS 1050

(N-S)Oz One (E-W)Stark
(W)Nunn (N)Ewart (E)Hans (S)Howe

W N E S

1♣ 2♥ 2♠ X

P 4♥ P P

P

♦3♦5♦T♦Q
♥A♥T♥3♥5
♥K♣7♥9♠3
♣K♣9♣5♣8
♦4♦7♦9♦J
♣A♥2♣2♣6
♥4♣3♥Q♠2
♣Q♣T♠9

= 4♥ by N, making 5, NS 650
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N
EW

S

5 ♠K 5

Q10 7 2

A9

♣Q8 7 4 3

♠ 4

5 4

K J10 7 6 4

♣ A J 6 2

♠AQ8 7 6

AK 8 3

8 2

♣10 5

♠ J10 9 32

J 9 6

Q5 3

♣K 9

-300 
8
8

10
4
8

5
5
3
9
4

N
EW

S

6 ♠ J 9 2

Q8

Q

♣ Q J 9 8 7 5 4

♠10 7 6

K J 6 5 4

A

♣K10 6 3

♠8 3

A9 7 2

K 9 6 5 4

♣A 2

♠ AK Q5 4

10 3

J10 87 32

♣ --

 620 
4
3
4
3
7

9
10

8-9
9
6

= 3NTX by N, down 1, NS -200

= 4♥ by S, down 1, NS -100

-

3

Oz One

Stark

144

30

(N-S)Oz One (E-W)Stark
(W)Stark (N)Del’Monte (E)Dilks (S)Burgess

W N E S

P P 1♠

P 1N 3♦ P

P 3N P P

X P P P

♠4♠6♠9♠K
♥7♥4♥A♥9
♥3♥J♥Q♥5
♥T♣2♥8♥6
♠5♦4♠A♠2
♥K♦5♥2♣6
♠Q♠3♣4♦6
♦8♦Q♦A♦7
♦9♦K♦2♦3
♦J♠7♠T♣3
♦T♠8 ♠J♣7

= 3NTX by N, down 1, NS -200

(N-S)Oz One (E-W)Stark
(W)Nunn (N)Ewart (E)Hans (S)Howe

W N E S

P 1♦ 1♠

P 2♣ P 2♥
P 4♥ P P

P

♦3♦A♦4♦2
♥2♥4♥A♥6
♥3♥9♥Q♥5
♠K♠4♠6♠2
♠5♦7♠A♠3
♠Q♠J♦9♦6
♣T♣K♣3♣2
♥J

= 4♥ by S, down 1, NS -100

= 5♣X by N, down 4, NS -800

= 4♠ by W, down 1,EW -100

-

14

Oz One

Stark

144

44

(N-S)Oz One (E-W)Stark
(W)Stark (N)Del’Monte (E)Dilks (S)Burgess

W N E S

1♥ P

1♠ 2♣ P 2♥
3♦ P 4♠ P

P 5♣ X P

P P

♠6♠3♠Q♠2
♠K♠9♠7♠8
♥T♥Q♥K♥A
♦4♦8♦Q♦A
♣3♣A♦2♣4
♦K♦3♥8♥6
♣2♦7♣5

= 5♣X by N, down 4, NS -800

(N-S)Oz One (E-W)Stark
(W)Nunn (N)Ewart (E)Hans (S)Howe

W N E S

1♥ P

2♦ 4♣ P P

4♠ P P P

♣Q♣3♣2♠4
♦2♦Q♦A♦6
♣6♣A♠5♣4
♦3♥8♠6♦4
♣K♠8♠K♣5
♦7♠J♣T♦5
♥Q♥K♥A♥3
♥7♥T♠2♥4
♠9♠7♠3♠A
♦8♣7♠T♦9
♥J♥2♦T♣8
♥5♥9♠Q♣9
♦J♣J♥6♦K

= 4♠ by W, down 1,EW -100



ANOT 2007 Final ( Round 3 of 4 ) Oz One vs Stark      

5

N
EW

S

7 ♠7 6 5 2

K10 8 6 2

7

♣K 9 6

♠ J10 3

Q

A9 6 5

♣ J10 7 5 2

♠K 9 8

J 9 7 5

Q10 32

♣8 4

♠AQ4

A 4 3

K J 8 4

♣AQ3

1370 
1-2
3-4

6
1
1

8
9

6-7
12
12

N
EW

S

8 ♠ AK Q9 8 6 2

3

K Q6

♣ 8 5

♠7 4 3

J 6

A5 32

♣A J 9 6

♠ J

AQ10 9 8

10 7 4

♣Q10 32

♠10 5

K 7 5 4 2

J 9 8

♣K 7 4

 420 
9

9-10
8
7
7

4
3
5
6
6

= 3NT by W, making 3,EW 600

= 3NT by W, making 4,EW 630

1

-

Oz One

Stark

145

44

(N-S)Oz One (E-W)Stark
(W)Stark (N)Del’Monte (E)Dilks (S)Burgess

W N E S

P

2♣ P 2♠ P

2N P 3N P

P P

♥2♥Q♥9♥3
♣2♣8♣Q♣6
♣A♣9♣5♣4
♣3♣K♣J♥7
♥T♦5♥J♥4
♥5♥A♥6♦6
♦4♦7♦A♦3
♣T♠8♠4♠6
♣7♠9♠Q♠2
♠3♠K♠A♠5
♦K♠7♦9♦2

= 3NT by W, making 3,EW 600

(N-S)Oz One (E-W)Stark
(W)Nunn (N)Ewart (E)Hans (S)Howe

W N E S

P

2N P 3♣ P

3N P P P

♠6 ♠J♠K♠A
♣A♣6♣2♣4
♣Q♣K♣5♣8
♥K♥Q♥5♥A
♣3♣9♣J♠8
♣T♠9♥4♠2
♣7♦2♥3♠5
♠3♥7♠Q♠7
♠4♥2♠T♥9
♦A♦3♦4♦7
♦5♦T♦K♥6

= 3NT by W, making 4,EW 630

= 4♠ by N, down 1, NS -50

= 4♠ by N, down 1, NS -50

-

-

Oz One

Stark

145

44

(N-S)Oz One (E-W)Stark
(W)Stark (N)Del’Monte (E)Dilks (S)Burgess

W N E S

P 1♠ P 1N

P 4♠ P P

P

♠3 ♠J ♠5♠2
♦4♦9♦K♦A
♥J♥Q♥K♥3
♥2♣5♥6♥8
♥9♥4♣8♠4
♣A♣2♣4♠6

= 4♠ by N, down 1, NS -50

(N-S)Oz One (E-W)Stark
(W)Nunn (N)Ewart (E)Hans (S)Howe

W N E S

P 2♣ P 3♦
P 4♠ P P

P

♠3 ♠J ♠5♠2
♦4♦8♦K♦A
♥J♥Q♥K♥3
♥7♣5♥6♥8
♥A♥4♣8♠4
♣A♣2♣4♠6
♠A♠7♥9♠T
♠K♦5♣3♥2

= 4♠ by N, down 1, NS -50
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N
EW

S

9 ♠A 3

3

AQ J10 9

♣AQ J 7 3

♠K10

K 9 6 2

6 2

♣K10 9 4 2

♠ J 9 8 6 2

J10 8 5 4

K 5

♣6

♠Q7 5 4

AQ7

8 7 4 3

♣8 5

 110 
7
8
7
9
7

5
4
6
4
5

N
EW

S

10 ♠ J 9 8 6

A6

K 6 5

♣A7 4 2

♠ Q42

Q J10 9 5 3

9

♣ Q10 8

♠ A

8

AQ10 8 7 42

♣ J 9 6 3

♠K10 7 5 3

K 7 4 2

J 3

♣K 5

 630 
10
5
4

11
11

3
7
8
2
2

= 3NT by S, down 1, NS -50

= 5♦X by N, down 2, NS -300

6

-

Oz One

Stark

151

44

(N-S)Oz One (E-W)Stark
(W)Stark (N)Del’Monte (E)Dilks (S)Burgess

W N E S

1♦ P 1♠

P 3♣ P 3N

P P P

♣8♣Q♣K♣6
♥9♥T♥Q♥3
♣5♣7♣9♠2
♣4♥4♦3♣J
♦9♦2♦5♦4
♦A♦6♦K♦7
♦Q♥2♠6♦8
♦J♥6♥5♠7
♦T♠T♥8♥7
♣A♣2♠8

= 3NT by S, down 1, NS -50

(N-S)Oz One (E-W)Stark
(W)Nunn (N)Ewart (E)Hans (S)Howe

W N E S

1♦ P 1♥
P 2♣ P 2♦
P 2♠ P 4♠

P 5♦ X P

P P

♦2♦5♦4♦9
♣A♣4♣6♣5
♣J♣K♦K♣8
♠9♠4♠A♠T
♦A♦6♥4♦7
♦Q♥2♥5♦3
♦J♥9♠2♦8
♣Q♣2♠6♠5
♣3♣9♥8

= 5♦X by N, down 2, NS -300

= 3NT by N, making 7, NS 720

= 3NT by N, making 4, NS 630

3

-

Oz One

Stark

154

44

(N-S)Oz One (E-W)Stark
(W)Stark (N)Del’Monte (E)Dilks (S)Burgess

W N E S

P 1♦
1♠ 3N P P

P

♠2♠A♠3♠6
♦A♦3♦5♦9
♦Q♦J♦K♥3
♦6♥5♦T♥2
♦8♠5♣2

= 3NT by N, making 7, NS 720

(N-S)Oz One (E-W)Stark
(W)Nunn (N)Ewart (E)Hans (S)Howe

W N E S

P 1♦
P 1♠ P 2♦
P 3N P P

P

♥J♥8♥2♥A

= 3NT by N, making 4, NS 630
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N
EW

S

11 ♠AQ J 9 7

A9 8

KQ9 5 4

♣ --

♠K10 8 2

KQ3

6 2

♣Q J10 8

♠5 3

10 7 4

J10 8 7

♣9 6 4 2

♠6 4

J 6 5 2

A 3

♣AK 7 5 3

-100 
4
6
3
9
3

7
5

8-9
4

10

N
EW

S

12 ♠5

A J 8

Q5 4 32

♣Q7 6 5

♠A J 9 4

Q9 3

A9 7 6

♣K10

♠8 2

K 7 6 5 2

J

♣ J 9 8 4 2

♠KQ10 7 6 3

10 4

K10 8

♣ A 3

 460 
1
1
7
3
8

11
11
5

10
5

= 4♦ by N, down 1, NS -50

= 5♦ by N, down 1, NS -50

-

-

Oz One

Stark

154

44

(N-S)Oz One (E-W)Stark
(W)Stark (N)Del’Monte (E)Dilks (S)Burgess

W N E S

P

1♣ 1♠ 2♥ P

3♣ 3♦ P P

3♥ X P 4♦
P P P

♣Q♣2♣3♦K
♦4♦2♦8♦A
♥6♥A♥K♥4
♦5♦6♦T♦3
♠3♠4♠Q♠K
♥3

= 4♦ by N, down 1, NS -50

(N-S)Oz One (E-W)Stark
(W)Nunn (N)Ewart (E)Hans (S)Howe

W N E S

P

1N 3♦ X P

3♥ X P 5♦
P P P

♦2♦7♦A♦9
♥5♥A♥3♥4
♦4♦6♦8♦3
♠3♠4♠Q♠K
♥K♥7♥2♥8

= 5♦ by N, down 1, NS -50

= 4♠ by W, making 5,EW 450

= 4♠ by W, making 5,EW 450

-

-

Oz One

Stark

154

44

(N-S)Oz One (E-W)Stark
(W)Stark (N)Del’Monte (E)Dilks (S)Burgess

W N E S

1♠ P 2N P

3♠ P 4♣ P

4♦ P 4♥ P

4♠ P P P

♣6♣K♣2♣3
♠4♠2♠K♠5
♠Q♦2♠J ♠8
♥4♥8♥9♥K

= 4♠ by W, making 5,EW 450

(N-S)Oz One (E-W)Stark
(W)Nunn (N)Ewart (E)Hans (S)Howe

W N E S

1♠ P 2N P

3♠ P 4♣ P

4♠ P P P

♣5♣T♣J♣A
♠3♠5♠A♠2
♠4♠8♠K♣6
♥4♥8♥9♥K
♣4♣3♣7♣K
♠9♥2♠T♦2
♥T♥A

= 4♠ by W, making 5,EW 450
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N
EW

S

13 ♠Q9 6

AQ10 6 2

4 3

♣10 9 6

♠ AK 5 4 32

K 985 3

K

♣ 8

♠ 8

7

AQ10 9 8

♣ AK J 7 5 4

♠ J10 7

J 4

J 7 6 5 2

♣Q3 2

 600 
7-5

5
7-6

8
11

6
8
5
5
1

N
EW

S

14 ♠ KQ10 9 5 2

KQ

6

♣ AQ10 9

♠ J 8 3

J10 3

K J10 7 4

♣K 3

♠ 4

76 5

AQ98 5 3

♣ 65 4

♠A7 6

A9 8 4 2

2

♣ J 8 7 2

 110 
7
8

6-5
8-7

8

6
4-5

7
5
4

= 3♣ by S, making 5, NS 150

= 5♣ by N, down 1, NS -100

6

-

Oz One

Stark

160

44

(N-S)Oz One (E-W)Stark
(W)Stark (N)Del’Monte (E)Dilks (S)Burgess

W N E S

2♥ 2♠ 3♣
P P P

♠J♠Q♠K♠8
♦K♦A♦7♦3
♣A♣2♣6♣8
♣K♣3♣9♠2
♦Q♦2♦4♥3
♦T♦J♣T♠3

= 3♣ by S, making 5, NS 150

(N-S)Oz One (E-W)Stark
(W)Nunn (N)Ewart (E)Hans (S)Howe

W N E S

P 1♠ 4N

P 5♣ P P

P

♠K♠8♠7♠6
♥K♥7♥4♥A
♦3♦K♦A♦2
♦Q♦5♦4♣8
♥3♦8♥J♥Q
♣6♠5♣A♣3
♦9♦6♥2♠2
♦T♦J♣9

= 5♣ by N, down 1, NS -100

= 4♠ by N, down 2, NS -100

= 4♠ by N, down 2, NS -100

-

-

Oz One

Stark

160

44

(N-S)Oz One (E-W)Stark
(W)Stark (N)Del’Monte (E)Dilks (S)Burgess

W N E S

P P

1♥ 1♠ 2♦ X

2♥ 4♠ P P

P

♥J♥5♥A♥Q
♦2♦6♦T♦Q
♣4♣8♣Q♣K
♥T♥6♥9♥K
♠K♠3♠4♠A
♣2♣9♣3♣5
♠Q♠8♣6♠6

= 4♠ by N, down 2, NS -100

(N-S)Oz One (E-W)Stark
(W)Nunn (N)Ewart (E)Hans (S)Howe

W N E S

P 3♦
P 4♠ P P

P

♥J♥5♥A♥Q
♦2♦6♦T♦Q
♣4♣2♣T♣K
♦K♦A♠7♠9
♠K♠3♠4♠A
♥4♥K♥3♥6
♠Q♠8♦3♠6
♠2 ♠J♦5♥2

= 4♠ by N, down 2, NS -100



ANOT 2007 Final ( Round 3 of 4 ) Oz One vs Stark      

9

N
EW

S

15 ♠A 3

A10 5 4 3

A5

♣A8 7 3

♠KQ J 7

J 7

K 9 7 2

♣ J 9 4

♠5 4 2

KQ2

Q J 6

♣KQ6 5

♠10 9 8 6

9 8 6

10 8 4 3

♣10 2

1370 
11
7

11
8-7
12

1
6
1
5
1

N
EW

S

16 ♠A J 5

10 8 4

J 9 7

♣KQ10 8

♠9 8 4

K 9 6 2

K

♣A9 7 6 3

♠Q10 7 2

A J 7

10 6 3

♣ J 5 4

♠K 6 3

Q5 3

AQ85 42

♣ 2

 110 
5
5
5
5
7

5
4-6
7-8

8
5-6

= 6♥ by N, down 1, NS -100

= 4♥ by N, making 5, NS 650

-

13

Oz One

Stark

160

57

(N-S)Oz One (E-W)Stark
(W)Stark (N)Del’Monte (E)Dilks (S)Burgess

W N E S

1♣
P 1♥ P 2♥
P 3♠ P 4♣
P 4N P 5♦
P 6♥ P P

P

♠K♠2♠6♠A
♥5♥7♥K♥6
♥Q♥8♥3♥J
♥2♥9♥T♠7
♥A♠J♣5♦3
♣3♣4♣K♣2
♣6♣T♣A♣9
♥4♠Q♦6♦4
♣8♣J♣Q♠8
♦Q♦8♦5♦K
♦2♦J♦T♦A

= 6♥ by N, down 1, NS -100

(N-S)Oz One (E-W)Stark
(W)Nunn (N)Ewart (E)Hans (S)Howe

W N E S

1♣
P 1♥ 1♠ P

3♠ X P 4♥
P P P

♠K♠2♠6♠A
♥3♥7♥K♥6
♥Q♥8♥4♥J
♥2♥9♥A♠7
♣3♣4♣K♣2
♦Q♦3♦A♦2
♦5♦K♦6♦4
♠Q♠4♠8♠3

= 4♥ by N, making 5, NS 650

= 2♦ by W, making 2,EW 90

= 3♦ by W, down 1,EW -100

-

5

Oz One

Stark

160

62

(N-S)Oz One (E-W)Stark
(W)Stark (N)Del’Monte (E)Dilks (S)Burgess

W N E S

1♦ P 1♥ P

2♦ P P P

♣K♣A♣4♣2
♣3♣5♦2♣8
♥3♥4♥K♥A
♦3♦4♦7♦K
♠4♠7♠K♠A
♦9♠8♦6♦Q
♦A♦J♥2♦T

= 2♦ by W, making 2,EW 90

(N-S)Oz One (E-W)Stark
(W)Nunn (N)Ewart (E)Hans (S)Howe

W N E S

1♦ P 1♥ P

2♥ P 2N P

3♦ P P P

♣K♣A♣4♣2
♦K♦6♦2♦7
♠4♠2♠K♠A
♠J ♠8♠7♠3
♠5♠9♠T♠6
♠Q♥3♥8♣3
♣5♦4♣8♣6
♦A♦9♥2♦3
♦Q♦J♥6♦T

= 3♦ by W, down 1,EW -100


